Find the difference:

           98.24                             62.19                            56.18
      -      2.13                         -     1.02                         -    3.02


                        25.13                                49.02
                     -    4.02                              -   6.01


12 - 9=                       15 – 8=       =__          20-10=                18 – 9  = __
4     4                           7    7                           11 11                  10    10          


What is the value of the underline digit?

[bookmark: _GoBack]8,432   ____                        5,032  ___                       6,534    ____
